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No. of Questions ; 200
gt # dem o 200

Time : 2 Hours T Full Marks : 300
awT : 3 WO2 quriy : 300

Note : (1) Attempt as many questions as you can. Each question carriea 3
{Thres) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

quesation.

gl ARE "9 B S LI Ll
(2) If more than on¢ alternative answers secm to be approximate to
the correct answer, choose the closest one.

Hﬁmmaﬁ{ﬂ@ﬁ?%ﬁﬂﬁﬂﬁﬂﬁ.ﬁﬁw

g It &) _ .

(3) This paper comprises of Five Sections. Bections I and II are
compulsory whercas only one Section out of II, IV and Vis to
be attempted.
uﬁwqﬁﬁmﬁw%wmﬁuaﬁmﬁﬁmm

m.wavﬂ%ﬁﬁﬂr{aﬁmwh%a
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Bection -1
TvE -1
Chemil&y
(Compulsory for all)

01. The tgtal number of electrons present in 18 ml of water is ;

03.

lﬂﬁfnﬁﬂﬂﬁlﬁﬂ?@ﬁﬁﬂ?ﬁ;ﬁtﬂ%m%:
(1) 3.346 x 102 (2) 6.023 x 10
(3) 6.023 x 10 (4) 10.841 x 10%

in the titration of Na,CO, by HCI using methyl orange indicator, the
volume required at the equivalence point will be if that of the acid
required using phenolphthalein indicator is 10.0 ml -

(1) S.0ml (2) 10.0ml. (3) 15.0ml (4) 20.0 ml,

(1) 5.0Modo o (2) 10.0fosfto
(3) 15.0Mothe [4) 20.0Fodfte

Bohr's mode! explains

(1) the épcctrum of hyd rogen atom only

(2} the spectrum of an arom or an ion containing one electron only
(3] the spectrum of a hydrogen molecule

(4) the solar spectrum
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A o Wiz AT BN B

(1) #a9 Hatom B T &l
(z]ﬁmﬁﬁmﬂmam%ﬁmaﬁﬁmﬁ%m%ﬁﬂﬁ“ﬁ
(3} FEEO Y H TIRA H

) g B WA B

Equal weights of methane and oxygen are mixed in an empty vessel
at 208 K. The fraction of the total pressure exerted by methanc is :

o @R ad+ 3 298 K @19 9T 3 qer SAtrdioTT F WEIA W
ffarg 0 T ¥ g @9 d A8 R <= W AT 8

I 1 2
(1 3 @ 3 3 3 (4)

|

When two reactants A and B are mixed to’ produce C and D, the
reaction quotient {Q) in the beginning of the reaction is :

i1 Zero 7 (2) decreases with time
(3) remains unchanged with time . (4) increases with time .

mﬁmﬁmamﬂﬁaﬁ%ﬁrcaﬁwnwﬁ,ﬁeﬁﬁm
% qrow § sAfiear TOTE (Q) B
(1) I (2) 99 B " g3

The pH of 10® M solution of HCIO, in water is

(1) between 6 and 7 (2) between 7 and 8
{3) 8 (4) between 8 and 9
== 8 10° M HCIO, & R & PH &1 :

(1) 6 7% @9 A 2 TERB8% 4y ¥
as ) o 5 S 4 H
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07.

08,

Which one among the following is diprotic ?

T § Ar-w R B 2
(1) H, PO, (2 H,PO, (3} H, PO, (4) H, BO,

During depression in freezing pﬁint in a solution, in equilibrium are;
{1) liquid solvent and solid solvent

(2) lLiquid solvent and solid solute

(3} liquid solute and solid solute

(4) liquid solute and solid solvent

R ¥ % Feaa B oreeis F el sy g3 €
(1) =g foeas o S\ fngs |

(2) =9 F9mE o S Gy

(3) 5o Rem aur 3ty faag

(4) 79 BT qar o9 o

For a first order reaction :
A - products

[A] changes from 0.1 M to 0.025 M in 40 mins. The rate of the reaction
where [A] = 0.01 M is ;

qun e H Afufrar & fg,
A 39T

A% (A140 B2 & 0.1M R/ 0.025 M 7% uRaffar gy &, &t siferf
B &7 o8 [A] =-0.01M B

(1) 6.94 x 10 M min"' (2) 1.73 x 10> M min’
(3) 3.47 x 10 M min-! (4) 3.47 x 10* M tmin~’



10.

11.

12.

13.
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A monoatomic gas undergocs a process in which the ratio of P to ¥ at
any instant is constant and equals 1. What is the molar heat capagity
of the gas 7

wmhﬂm-%ﬂﬁmgﬁﬁﬁhma%mm
fafire Sww Beh ;

1y o @ = @ = @ =

A positron is emitted from | Na”. The ratio of the atomic mass and
atomic number of the resulting nuclide is :

Na* @ T YMPrT Frepcrar B | aitowit ifdes 7 qrar] &S o
mmwm@mé’m:

2 o 23 | 23
m 2 7 @ 1o W 3

The number of Lone pair (s) in XeF, is :

XEF.ﬂmﬁ!ﬁﬂlﬂﬁﬁTﬂg‘Wﬂﬂmtt
(1 1 (2) 2 3) 3 (4) 4

Native silver metal forms a water soluble complex with a dilute solution
of NaCN in water in the presence of :

(1) argon (2) carbon dioxide
(3} nitrogen (4) oxygen

Hﬁﬁﬁﬁ@?%ﬁﬂaﬂﬂ%ﬁm(mﬂ)‘%mﬂﬁww
SuRafy # orer & Premsiia o APE F=IT

(4 £ (2) ®RE S SRS

@ e (4) oMo
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14. {NH,|, Cr, O, gives on heating a gas which is also given by :

(NH,), Cr, O, "/ &% ¢ w % Frepwern 8, 481 e R aeh &
(1) NH, NO, - (2] NH, NO,
(3) Mg\N, + H0 (4} Na metal + H.O

15. The complex ion which has no d-electrons in the central atom is -

ﬂﬂwmﬁﬁiﬂ%mmimd-mﬂﬁ:
{1} Mno, (2) Fe(CN)*
3] Co(H,0); : (4) Co(NH,)*

16. Among the following which one is the most basic ?

(1} Aniline (2) Benzylamine
(3) P-pitroaniline (4) Acetanilide |
¥ A A s ey § -
(1) afves - | (2) oA Trgs
(3) F-ERrafrda (4) cfyeemEs

17. 1-Chlorobutane on reaction with alcoholic potash gives :
{I) 1-butene (2) 2-butene
(3] 1-butanol - (4 2-butanol
192 i AT B e R R Sy &
(1) 1-=gd9 - (2) 2-sg3+
(3} 1-=g3=te : (4) 2-=2HTeT
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19.

20.

a1.
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The reaction of toluene with chlorine in the presence of ferric chloride
gives predominantly :

(1} benzuyl chloride (2) m-chlorotoluene
{(3) benzyl chloride (4) © and p-chlerotoluene

Wﬂ@?ﬁﬂlucnc}ﬁmﬁ!ﬁ%mﬂ%ﬁmﬁﬂ?@ﬁ
Sufeafd A w0 ¥ wgE I ¥

(1) =g FWNOES (2) AT-FAISMGEA

(3) AFTA FAUES (4) 37t afrr Yer—aATiEteR

Benzene diazonium chloride reacts with phenol in a weak basic
medium to give :

{1) diphenyl cther (2) p-hydroxy azobenzene

(3) chlorobenzene (4] benzene .

o Ff et adss. A Atk R § 3
weas A wOd ® @ Ard Aar @

(1) SEoFE duX (2) Fr-eEglEd Toe=AT
(3) FENTrATAIT (4) AT

which of the following compounds is oxidised to prepare methyl ethy!
ketone ? : !

{1) 2-propanol (2) 1-butancl

(3) 2-butanol 4) tert-butyl alcohol
ﬁﬂﬁfﬂm?ﬁﬁﬁi%aﬂﬂﬂmﬁﬁﬁﬁ-@ﬁaﬁaﬂmﬁﬂmt?
(1) 2-=e (2) 1-=gA

(3} 2-=geAra (4) gAraS-fEA CTHIET

An enantiomerically pure acid is treated with a racernic mixture of an
alcohel having one chiral carbon. The ester formed will be

{1) an optically active mixture (2) a pure enantiomer
(321 & meso compound {4) ‘& racemic mixture

.*‘-

9 ﬁr.n.
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22.

23.

24,

25,

Hﬁrﬁwaﬁ’rmaﬁq@w Ity iy R o s
?mﬂ)ﬁmmﬁﬂmﬁ'iz?m:w( |
(1) s mmfis aftrg fiyeoy (2) TF qfafars =y

(3) % HE DN e (4) O Fiy sy
Kolbe's electrolysis of pDT.Et:EE."ium succinate gives :
(1) CO, and ethane _ (2] CO, and ethene
(3) CO, and methane {4) CO, only

QAT WEES W Bl syoues e ¥
(1) =T g alteas T o

(2) FEE g1 fyaEs ug e

{3) FET 3 sitFEs wg Hioe

(4) AT FEA FE Samss

The compound that is most reactive towards nitration is :
t[IJ toluene (2} benzene .
(3] benzoic acid (4) nitrobenzene

s At e & Riw watfas afsg &
(1} T - (2) F=0= (3) A= ofre (4) TR

The two forms of D-glucopyranose obtained from the solution of D-
Blucose are called : '

(1) enantiomers(2) epimers . (3) anomers (4] isomers
%@%WW%D-W%W%W&TE@%W
(1) offas =0 (2) e (3} T (4) swmEEgd

A metal nitrate reacts with Kl to give a black precipitate which on

addition of excess of KI converts to orange colour solution. The cation
of the metal nitrate is - -

UF 4] TEeT KI & : ﬂﬂ%wamﬁqa?n%,mlﬁ
Mﬁﬂﬁmmmélﬁﬁﬂﬁﬁtw%
(1} Hg» (2) Ph (3) Iu* 4] Biv

10
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27.

a8.

29,
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Section - I
s - 11
Mental Ability
(Compulsory for all}
If GIVE is coded-as 5137 and: BAT is coded as 924, then GATE is
coded as :

mmwﬁﬂzﬁammt 5137 3% BAT @Y WIS fohar e
R, 924, GATE & s fosar omay 8 :

(1) 5427 2} 2547 (3] 5247 (4) 5724

Choose the group of letters which is dlfftl'ﬂnt from -::t.hers

ﬁmﬁrﬁaﬁﬁ‘ﬂaﬁm%ngmuﬁﬂﬁsgaﬂ%ﬁﬁf
]
(1] ABD (@) HIK (3) VWZ '[4; QR?T

Find out the missing number in the following :

i § o dwar S 9y o B ge T B
B0 T, -
(1) 48 (2) S0 (3) 78 (4) 82

{dentify a wrong number in the following series :
ﬁmﬁfmﬁ%ﬁﬁmm@rmﬂ%ﬁswtr

7. 28,63, 124, 215, 342, 511 .
(1y 7 (2) 28 (3 124 (4) 215

-
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30.

31.

32.

33.

Find the missing number (?) in the following figure :

ﬁ‘rmﬁ:ﬁaaﬁmﬁgﬁ{?)mﬂ?r.maﬁﬁm:

N AT AT
SZAACTANGT

(1) 52 (2) 36 .3 117 (4) 81

Sunita ranked 11* from the top and 27 from the bottom in a class.
How many students are there in the class ?

Th T A G S A 118 e 9T § od) H @ 273 Ty
9T B, O 39 o ¥ ey faanit ¥ 7

(1} 38 (2) 28 (3) 40 4) a7

A and B are brothers. C and D are sisters. A's son is D's brother. How
is B related to C ?

{1) Father (2) Brother
(3) Grandfather (4} Uncle

Aaﬁraaﬁw@%maﬂtnaﬁraﬁgmwmnzﬁrw@
g, A BT CH Rvar v 3 2

(1) o (2) g (3) <mEr (4) <=

The sum of two numbers is BO. If the larger number exceeds four
times the smaller one by 5, then the smaller number is :

mﬁﬁmaﬁmﬂwsn%,ma&mﬁﬁw,ﬁﬁmsa
=TT a8t dedr R, @ 6 gear anf o
(1} s (2) 15 (3) 20 4y 25

12



34.

38,

36.
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I the perimeter of a rectangl'e is 82 m and the area is 400 m?, the
breadth of rectangle is :

(1) 25m. (2) 16 m. (3] 9m. (4} 20m.

s e W e (aRm) 82 et B ofiv IEen @ e 400
aifter B, ar ot i deg B -

(1) 25%eT  (2) 163exy | (3) 9HRT (4) 20#HEY

The ratio of number of boys and girls in a school of 720 students is
7 : 5, then how many more Jgirls should be admitted to make the ratio
as1:1°7

790 PGt aicht U aswrer § @g@ X agiEm W STa
?:st,ﬁmaﬁmﬂﬁi:lwﬁ%ﬁlﬁﬁﬁaﬁwmaﬁr
Syl AAEITF & ?

(1) 90 2) 120 (3) 220 (4} 240

A train which is 700 m long, is running at the speed of 72 km per
hour. If it crosses a tunnel in 1 minute, then the length of the tunnel
in meters is :

(1) 700 m. (2) 600m. (3) 550 m. (4} 500 m.

%Wﬁlﬂﬁaﬁﬁ%?mw&mwmﬁaﬁﬂﬁ
& @ < B onR 4® M wh g A ) e # O w E A
Wﬁm‘ﬁﬁ'{ﬁﬁﬁ:

(1) 700¥ET  (2) 600HIEX {3) 550 HIZT (4) 300 HeT

+ 4

Thc;rea of largest triangle that can Pntu;ls.cnbed _igﬂg semiciycle of

fadins "r' is: . AR o §
{1} 2rcm? (2) r*cm? (3) Sxced® My -2 xtom®

13 rT.O.
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38,

39.

qzanaﬂa?%wmramﬁﬁﬁﬁ""mméfWJﬁmR%
(1) 2r @t Ffo . 2) 2 @t Ao
(3) 8r & ffto (4) 2xr & Ao

If one-third of watér tank holds 80 litres of water, then the quantity of
water that can be held in half-full tank will be :

(1) %ﬂums {2) 100 Litres (3) 120 litres  {4) 240 litres

Wﬁﬂﬁmaﬁﬁsw-t’cmﬁﬂﬁgé% 80 AET il vF H
z, amﬂﬂgmmwﬁﬁwaﬁﬁ%?

{1] s;ma-f (2) 100X (3) 120dET  (4) 240w

In an examination, 35% of the students passed and 455 failed. How

many students appeared for the examination ?

g qltey A, 35nﬁrmmqmgqeh'z455%agq ar ofer ®
Rt a1 &2 go @ ?
(1) 490 (20 700 (3] 845 (4) 1300

If 5 men, working for 6 hours a day can reap a field in 20 days, then

in how many days, will 15 men reaﬁ the field ? The hours of the day
may be taken as 8 hours :

L

{1} Edayg (2] 6 days (3) ?% days (4) 9 days

!

14
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IR 5 HIET OF @d B BAE 6 T HART w3, 20 9 3 G wed
¥ 4 15 99 I39T @9 @ B B # s, o s R @ 8
§e N WEAT oy 7 '

(13 sf= 21 6T (3} ?%f&ﬁ 4 ofR=S

41. The difference between the interest received from two bénks on Rs.500

[

for 2 years is Rs. '2.50, then the dii‘i‘cr_ém:e between their rates is .

(1) 1% (2) 0.50% (3) 2.50% (4) 0.25%

qﬁawaﬁﬁmmwzwﬁsmmwzsnm&
¥, O g 94 & S e &0 Al 8

(1} 1 wfeera {2} 0.50 "ierare
(3) 2.50 sfrswT (4) 0.25ufaera
,42./ Choose the number which is different from others in the group :
g € T " @ g :
(1) 12 (2) 25 (3} 37 (4) 49
~ Choose the numbers which is different from others in the group -

qYE | o Hem H® o
(1) 751 {2) 734 (3) 981 (4} 853

15 P.Y.0.
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44,

47.

At what time between 7 and 8 o'clock will the hands of a clock be in
the same straight-line byt not together ?

2
(1) 5 minute passed 7 (2) Sﬁ minutes passed 7

5
(3) 5% minutes passed 7 (4) Sﬁ minutes passed 7

% T T A 79hT s AR @ Ay F Pow g g o A e
¥ st AfF o g Tt ?

(1) 79 § 5z 309 (2) ?aﬁfﬁiﬁﬁﬁzaﬁ
(3) ?ﬁﬂS%Ww (4) ?a@fﬁﬂf—]ﬁﬂzm

Find the odd one :

47w g
(1) EDCBA {2) PONML (3] UTSROQ {4} YXWVZ

Which one of the following animals is vegetarian ?
(1) Wolf (2} Rabbit
(3) Fox (4] Wild bear

g A 9 dF wr o sege R ot &5 sreprardt 2 7
(1) #fEar (2) =TT (3) (4) SN HRY

Who is the cricket player of India who has received the first Bharat
Ratna during the year 2014 ?

(1} Dhyanchand (2) M.S. Dhooni
(3) Sachin Tendulkar (4) Virat Kohli

16 -
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49,

50.
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ﬁmﬁﬁﬁﬁﬁwﬁmﬁﬂwwm@%ﬁmﬁmmﬁ
T o g ARd-Te gre B ?

(1} &F 9% (2) #= fHe o

(3) T gl (4) faue s

Which city out of the following is known as the city of Lakes and
Mountains ?

(1) Jaipur (2) Haridwar
{3) Bhopal (4} Lucknow

ﬁmﬁfﬁﬂaﬂﬁaﬁﬂm&mm%ﬁﬁmﬂeﬂrw@wm
FET AT & 7

(1) @Ayl 2) e (3) WU (4) TETH
Spot the stranger in the following :

(1) Rose (2) Marigold

(3) Lily (4) Lotus

Fﬁmﬁ!ﬁaﬁﬁ@rﬂamtﬁrwtﬂmaﬁgﬂﬂ%ﬁﬁmﬁ,m
AT 7
(1) T () Aes (3 R (4) A
Which number would replace question mark in the series :
yoft # wgerares e & T 9T @ F AT

7,12, 19, ?, 39. |
(1) 29 (2) 28 (3] 26 4 24

17
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)

52.

53.

8ection - I
T vs - m1
Physics and Mathematics
(Physics)

E, m, I and G denotes energy, mass, angular momentum and
gravitational constant respectively, E*/ (mS G?) has the dimensions of :

(1) Ampere {2} Mass (3) Length (4) Angle
A, "4, Bty w3 o TEEEe Rraais wha: E,m,] 341 G
& frefa & &, er/ (ms 6y famr amr-

(1) ura (2} W= (3) g (4} o

In a clockwise system : which one is correct ?

<Rrmee Rrer § et wd
(1) jxk=j (2} ixi=o @) jxjwo0 (4) ixk=o

If the torque of the rotational motion about the given axis is zero then
the constant quantity about the same axis is :

{1} Torque ' (2) Angular momentum

{3) Inertia (4) Moment at Inertia
aﬁﬁﬁwﬁm%nﬁwgyﬁmﬁwﬁw—m@fﬁﬁ?ﬁ
I I F | P feqr B P .

(1) FT-smgef (2) =rfr g

(3) sz (#) <TE@ Mgt

18
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56.
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The height of water fall is S0m. Calculate the difference temperature:
of water at the top and bottom at the fall.

|J = 4.2 x 107 erg/cal and g = 9.8m/ sec?]

qmmammaﬁ%mésnﬁa%|m%sﬁémaaﬁ%m
ﬁ%ﬁwﬁwﬁmaﬁms

[J = 4.2 x 107 3 /AT a7 g = 9.8 W/
(1} At _=D.4351“C (2) A= 0.3125°C
(3) At=0.1167°C (4) at = 0.0167°C

A man weighting 75kg lift a body of 25kg to the hight of 10 meter in 5
minutes. His power is

(1) 7.33J/sec (2) B.33 J/sec
(3) 9.33J/sec (4) 10.33 J/sec

(1) 7.335@/8o (2) 8.333@/do
(3) 9.3331/Ho (4) 10.33 5@/ "o

A sphere of mass 'm’ moving with velocity "W’ hits another stationary
sphere of same mass. 1f ¢ is the coefficient of restitution what is the
ratio of velocities of two spheres after the collision 7

v, _(1eY _‘“_’Lz[lﬂi‘l
m 5 [T»;] 2, " \Te,

:ﬁ:[l_“'j] - -.E’.L;[l_f_]
@ v =) @y, T\We )

1 g PtT iﬁ [
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57.

o8.

59,

[f linear momentum of a body is increased by 50%, its K.E. will be
inereased by : '

gﬁqggﬁ%?@uﬁanﬁw,a#qﬁg@?ﬁ%ﬁmmm
{1) 50% (2) 100% (3) 125% (4) 150%

A simple harmonic motion has amplitude 'A' and time period "T". The
maximum velocity will be -

%WWHWWWW’A'HWWWTﬁﬁT
AT 3 Bhyr

(1) 4AT (2) T (3)  2xJaT (4)  2rA/T

A particle moves such that its acceleration 'a’ is given by & = -bx. The
periad of oscillation i - '

%ﬂﬁmwwm'a'ﬁm%aﬁanbxﬁlsﬂfﬁr‘aﬁaaﬂﬁ
2

(1) 2x/p (2 2n/vb (3) 228 (4 /2270
A block of wood floats in water with two-third of jig volume submerged.

In oil the block floats with 0.90 of its volume submerged. What will be
the density of wood? [£,= 10° kg/ m?]

(1) 334 kg/m? (2} 445 kg/m3:

(3) 556 kg/m? (4) 667 kg/ms3
%ﬁmﬁrwmﬁﬂ#ﬁxﬁmm%mﬁm%ﬁﬁ
%Wn.gnﬂmﬁaaﬁﬁﬁﬁ?m%r N TTE FGT Sh 7
[.2,= 10° [R5m )

(1) 334 fopmr/ e (2) 445 Fy =)

(3} 556 Rem/dis (4} 667 fpmy /oy

20
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62.

63.
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A gale blows over a house. The force due to gale on the roof is :
(1} Downward (2) Upward (3) Horizontal (4) Zero

%ﬂﬁraﬁfﬁm%mﬁﬁaﬂ%laﬁtﬁ%zﬁmmﬂ%ﬁ
T g ST

(1) = @ N : (2) FHUT W AT
(3) BT waRar | 4) A

What is the bulk modulus of water it its volume changes from 100
litre to 99.5 litre under a pressure of 100 atmosphere ?

(1} 2.026 x 10° N/m? (2) 4.086 x 10° N/m®
(3] 6.861 x 10° N/m’ (4) 7.861 x 10° N/m?

ol 1 ST WG it @1 S, 9FTY 100 JIeY AT 100
argqﬁeﬂuwwgg.ﬁﬁﬁaﬂqﬁaﬁ&am%?

(1) 2:026 x 10° gzH/Hr (2] 4.086 x 10° g /AP

(3) 6.861 x 10° FH/HP (4) 7.861 x 10° <LeA/H1

An observer standing at sea coast observes 54 waves reading the coast
per minute. If the wavelength of the wave is 10m. What is the velocity
of wave ?

(1) 9m/sec  (2) 10m/sec (3) 12m/sec  {3) 16 m/sec

ﬁﬂgz%ﬁaqﬁwm,nﬁmﬁﬁﬁmaﬁaﬁmm
S| aff aenel 10 ReT & @ qOT F AT W 7

(1) 9Ho/Bo (2) 10 Mo/8o @) 12%o/do  (4) 16 Wio/do

What is the maximum possible sound level in dB of sound wave in
air? If o, = 1.3 kg/m?®, v = 332 m/sec and P = 1.01 x 10 N/m?*.

ag | sfftrma ety & @Y 6B & @ fm 7 A o= 1.3/
AP, v = 332 Alo/Qo THI P = 1.01 105 7ge1 /1.

() 10048  (2) 150dB @) 19048 14) 20048

21 PT.O.
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65. One litre glass flask contains some mercury. It is found that at different
lemperatures the volume of air inside the flask remains the same.

What is the volume of mercury in this flask ? If coeflicient of linear
expansion of glass is 9 x 10%/°C while of the volume expansion of

mercury is 1.8 x 10*/°C,

Th HMieT B NN P s A ogu oweh ¥ oas umr R
AT TAMHM G WIEE B 7= a1g 1 FARITT 99 @l 2
Wﬁmww%m%w?zﬁsﬁﬁﬂ%@ﬂum
O 9x10/°C M AT TET Tolith 1.8 x 104/C &)

(1} S50ec (2} 75¢cc {31 100 cc (4] 150 ce

66. Two plates each of area A, thickness L, and L,and thermal
conduclivities K, and K, respectively arc Jjoined to them to florm a
single plate of thickness (L, + L,)). If the temperatures of the free
surfaces are T, and T, what is temperature of interface ?

ﬁﬁﬁﬁ?ﬁﬂﬁiﬁﬁf%ﬁﬂ&%ﬁhﬂmgaﬂ?wm
K, & K, 8, 1 oMgahe (L, +L,) Hier 3 oF <z gmn omer 21 o2
ﬁaaguaﬁﬁmwmtamnaeﬁaﬂwwmﬁwaﬂm

T, L.1_+T? E‘l. 1 _ILE_ +T L_!
L Kl II{I | ) Kz KI
(1) [L._+I:E} (2) {r_hx,.,
K‘I K? Kr K'J
o Ly s y .
T =1.T, -2 T, =% :
| K, ’K,J [‘*KE T'K,J
(3) L L, (4) Lo T
K, K, K, K,

22



14U/ 102/ 26{1)

&7. The variation of the volume with pressure of a fixed amount of gas
has been shown. The change in internal energy of the gas will be

shown by : _
ﬁﬁgqﬁﬂa:amaﬁﬁﬁiﬁrmﬂmmﬂ%ﬁaaﬁwﬁaﬁﬁ
’ﬁmw%aﬁﬂ%mﬁtﬁwitqﬁaﬂwﬁm%mmﬂm
oA ?

P =3
TREE (2) E
v L —
p i:
@ | A w | Q9
v e e ¥

68, A glass prism of refractive index 1.5 is immersed in water {3 = 4/3). A

light bearn incident normally on the face AB is totally reflected to
reach the face BC if

| 5 oqadarE & oy @ B ol A (p - 473 &1 L]
ﬁiﬂmhﬂﬂwwﬁﬂﬁﬁlsaﬁ%%ﬁmﬁ
gag BC 9T TES SR 9T ¢

q|-—_--—
¢
g 5 2 g
() Sinﬂ}% (2) %}SmH}E (3) ﬁ:nﬂ_sa (4] Ces8 2o

23
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69. Light is incident nermally on a diffractipn grating through which the
first order diffraction is seen at 32°. The second order diffraction will

be geen at :
f1] 48° (2) 64
(3) 60° {4} No diffraction

%mwﬁnwmmmwﬁﬁmaznﬂﬁﬂmﬂm%m
mmﬁ#wmmtlmmwﬁaﬁwﬁﬁm:

(1) 48° (2) &4°
(3) 60° 4) B g T4

70. The resistance R of a conductor varies with temperature as shown in
figure. If it is written as R, =Ry(1+at+p1% +§"):

4+ Resistance

Temperature ]
(1} a& B are positive but 8 negative
(2} a is posidve P & 3 are negative
{Z) o,p & § are positive

{4) o.B & § are negative

24
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%mﬁmﬂw%quﬁﬂﬁﬂﬁmﬁl
aft gfrdre @t @ ST R, =R,(1+at+pt’ + 3t & o

.1||.

G

(1) o AT p TACED, § TUTEHSE BFT
(2] o TAREH, p T § HOCTD BT
(3) a,p TOT § WATHS B
(4) «,p AT § HIUED 3Ll
71. Inacoppervoita meter containing copper sulphate solution, a current

of 1 ampere is passed for 1 hour. Taking the E.C.E. of copper as
0.000329gm/coul, the weight of copper deposited is approximately.

{1) O.6gm (2) l.2gm
{3) 0.12gm | (4) 0.0329gm
R B denfier #{ A = frema wq & 1 ofkat W

w1 o e A B8 B ars go Wo go 0.000329
mfgaiﬂqﬁigqmn&ﬂmﬁsﬂmmmml
(1) 0.6 Wo (2) 1.2 7@ (3) 0.12 Mo {4}  0.0329 Wo

72. Curle temperature of Iron is that temperature below which it 13 :
(1) Ferromagnetic (2) Electrically conductive
3 Supercoriducting (4) Radioactive '

28 P.T.O.
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T3.

74.

75.

ﬁ%ﬁqwﬁmm-w%ﬁmﬁ;%wm:

(1) chegrarrra 2) Iygha aos
(3) -SIFrarwar 4) iy

The wavelength of K, in X-rays produced by an X-ray tube is 0.76° A.
What is the atomic number of the anode material at the tube ?

X-FROT TRvmr ara s K, aﬁﬁtzfairtrmn.?ﬁl‘fa ? 1A B
Afrs qard &7 oo wer aar @ 2

{1} 10 (2) 20 (3) 30 . {4) 40

Calculate the mass in grams of a radioactive sample Pht4 having an
activity of one microcurie and half-life of 26.8 minutes. :

MERGECC IR LT i S b EIAT A wm ¥ T AR Rradd
M%me&wz&aﬁw%r o

(1) 3.0 x 10" gy (2} 3.05.x 10-M gm

(3) 4 x 105 g (3} 4.5 106 gm

A semi-conductor has an electron concentration of 4.5 x 10 m:® and
a hold concentration of 5.0x ] 20 m?. Calculate its conductivity. Given
B =0.135 m? v's), 4 = 0.048 m2 vis! '

S.Ox10™HI3 2| Suaft arerepay F Torar Hifsa ) Rar & u, =0.135
M2 AR, ), = 0.048 W2 gy -

a6



1wl 10272814

76. If a function f: |0, 2] —}IR wht:rc iR is the set ufaﬂ rea,l nmbcm is
defined by
(-t e o T
: : . : . [
then [f o ) (%) is equal to : - | :
(1 2 "{2}~-x Trtees (3) 100 {4} 2‘“ .

nﬁquﬁwr [u 21_,m,mﬁmwmﬁfﬁmaﬂmqﬁn
%,

JSxy=(2- 5"}’ VxE[ﬂ 2] s =
qﬁqﬁa% E?f@'nfl{le!‘ s |
1) 2 | [2_;_ x ) 10’ S "‘:-1_4}*" A

77. Hxi+x+1=0 mﬁi_ﬁu& value of

y ! | :
- PR . 3 i :
(il et

'. g x*+x+1=0% ﬁ‘T

1 . z 1 ’ .'I '1:1 I
xb— | x| S gy A ¥
X i st

(1 2 @4 " @' ™ 0

27"
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T8.

79.

80.

81.

1+2i +3i?

_Thevalucofmi—;ﬂ,whcmi- YL

I +2i + 3j?

T-oiear T TR i= g, @AY B

{1) 1+i 2) 1 (3) -t 4) O

Lo

If x= Z[%]dand y= fj

nwll srul}

[5) then 3
3 then y 15._

2 b1
! 3. 2 4
(1) 5 @3 @3 4 3
If "¢, = "c, then the value of "y 18 :
e, = o, ¥ & e T oA B
(1) 20 2y 21 | (3) 22 (4] 23

. ”
The value of the term independent of x in the expansion of [ X+ i:)

X
is : .
I:I_:l '.‘I':’ {2;' 2I¢!
[3} “C: ; (4) none of these

28
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["+L:]}i%mﬂxﬁﬁﬁafﬁ_ﬂﬂﬂﬁ?:

4
: ':1] “':n [2] 11':‘

(3) e, (4) = Q@ g T

=
. [;E‘ZF] is equal to :

1) 2e 2y O
(3) e (4) none of these
(Zﬂ%-ﬂm%
(1) 2e | . (2] 0
(3) e @) T & e
. The rank of the matrix 1s :
aegE & @i ®

1 21 0

- 21 20

2210

1 21 @
(1) 3 (2) 2 @ 1 (4) 4

P P.T.0.
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84.

-BE'!

86.

1

Ifx,y, zare in Anthmettc Progrcss;ﬂn then tha vaIue of the determinant

i

ﬁx,y,zmmﬂtﬁwﬁmm%

P4 e
4 5 1+2y
5: 6 142z

(1) © - (2) 1 3 2 - (9) xty+z

The angle Hetween twn curves represented b}r 2% + Sxy + 3y? + Bx +
?y+4 D:a : - b '

(1) tan (4} A ) tan"[sl
g  -(1 | | B
(3) tan" 3) _ | (4) nane of these

.3 +-.5;j?+qy=45:§+75$+-4'-0-m weider & et & frg wr Ao
!@';' ik r___.l ; R x . : ; :

gl e ()
(3) {m@'f;’-} L @) e R
PR A

. 5 s 2Y dx' 2 4]
“of dims 1+ 2| + — .
Thc va-hlllc‘or :qi{( ‘r)f‘f_ .r" "j%"'m} 18 ;!

. 2. ax'extei } 0
!ﬂ((“:] m} w
“'] E3+4 ':.2} E';*"l- {3} c2+4 [4] 4

Lo o

30
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87. A fupection ¢, :IR = {~1,0,1} is defined by

1 o=
: 2
wH[tF'-LI —;"5'-{1,.- :
0, otherwise
1,

The number of points where y, is discontinuous is :
AT p, IR - {~1,0,1}

L 0grer
2

. ;

y=4-1I, —<i<l
w1 L3 |
¢, W9

mqﬁmﬁatrh@aﬂaﬁtﬂm,aﬁ w, STETT &
(i) 4 (2)2 (3) 1 @ 3

= Cdy iy -
88. The solution of the differential equation a}r = —{% , given y = 0 when

L1

x=0,is:

- | i ot
WW"T -:—-i—= ;—{T,-m%y=ﬂ ST x = 0,5 & &

(1} tan'y=x. (2) y=tan'x (3) y=x2 (4 y=x

31
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89. If y = sin (sin x} then

d:f
dx: d

W y=sin(sinx) ¥ &

- tanx + y cos? x is equal to ;

dx Eztanx*-ycmi‘x et & -

{1} cos [sinx) (2} tanx {3.} X 4} 0O

s it
90. Themaxunumvalucnf{;:*) yin Dex<en, js:

[;’;] & O<x<ewo ¥ Jferpms W+ ¥ -

me @ (i @ e @ e

91. The.value of I:mz— is ;

Lner
(1) log,3 | (2) Jog,2 ..

3 1 (4) . none of these
1-_5:_:2”” Lol S S

(1) log,3 C2) log2

3 1 (4) T & Bk

32
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™ =2
e value of ! T+ cot x is :
a1
dx :
!HMK & A K
b A
)3 2 3 3) = 4 2x
If 3 b,& arc three vectors then the value of 5-{(54" 5]*(5 'H_HE}} is

3.

g ibc o= Ry ¥ @ b{{cﬂ} [a+b+t‘r]}$r o %
(1 0 . . ' (2} -EE,E,-E]
@ 2[abe] ). 3[a.5,¢]

A bag contains 3 white, 3 black and 2 red balls. One by one, three
balls are drawn without replacing them, The probability that third
drawn ball is red , i8: |

e BT 3 AR, ammzmhm%u%~wwm%
e g A 7 I, ﬁﬂ%ﬁrmm@ﬁﬂaﬁwﬁﬁ
sty B ;

w g @ 3 @ 3 @

3% /PT.0.
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95,

96.

7.

I tana=+/3, 180° <a < 270°,then sing is

(1} ~A . (2) —if- (3) ‘;—; {4] none of these
af tan @ =+/3, 180° <a < 270°, @ sing %
() -4 @ - (3) 5 (4) s?ﬂ‘ﬁlairgqﬁ

In any aABC if2Cos A= -, then tnangle 15
{1) equilateral (2} mouccles

{3 rig}it_-ang-lcd | (4) scalené

Pl aanc d, af 2CosA= £ B @t Prg ¥ -

(1) g (2) TRy

{3) wHHY (4) Frymag

* X -

If {e, } isa sequtncc such that 4, IZ;‘ Hne N, where N is the set .

of all natural numbers, then lima, jg .

o ja), o ¥R a=$ i vaeN smine

m‘@ﬁmwﬂﬁﬂirﬂgﬂnﬁ ar lima, #)
(1) © (2) 1 . (3) e-1 4) 2

. 34
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Find the equation of one line in xy — plane, which passes through the
point {3, 4) and the sum of its intercepts on the axis is 14.

xyaaﬁqm’imﬂ ma‘:’rﬁmﬁ‘rﬂ:;}i‘rgﬁrﬁhtﬂmm-ﬁ
9T u EEE AN wodt Fr A 14 ¥

+
4

L]

!

A variable line passes through the point of intersection of the straight

m it @ -1 @ x+y=7 @ yrie

ol
e

lines %Jf%—l and %4“%-““1 and cuts the co-ordinate axis in A and B

respectively. The locus of the mid-point of AB is : ' ]
o f

o W var @ Tewel 51 ot %I%Ea%@ﬁﬁaﬁé

W%Hﬂrﬁiﬁ’mmﬁfﬁrmm Aeﬂ'(aﬁﬁwm%lﬁa
& Aoy Rrg 1 Agaa ¥
11

.. - o %0581
@ %2 @ 3ty i s

100.The centre cfthccirclcx’-i-y“-4x'+ 2y~ 11 = 0is:

qﬁx=+y—4x+2y 11 =0% BE B : ~
(1} 2,-1) 2) 2,1} (3) [-2 1) {4} (2,-1)

as
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Section ~ IV -
wqog- [V
Botany and Zoology
[Botany)
101. The fungus commeonly known as bread mould is :
(1) Penicillium (2) Aspergillus
{3} Rhizopus (4) Neurospora
HETEEW &S AW § 9l 9 arelt w5 § -
(1) ks (2) QOYTHTH
(3) wEIH (4)  geiegT
102.The isogamous mode of sexual reproduction 18 found in :
(1) Phytophthora (2) Polysiphonia
(3} Spirogyra : (4)  Riccia
qugTren oraen # fFf goe Read o s 2
(1) wrgeiweie (2) wiheEEaT
(3) wuETTEY (4) RfFrr

103. Which one of the following microbes serves as a suitable biofertilizer
in the water-logged paddy fields?

{1) Aulosira (2) Albugo
(3) E coli (4) Ulothrix
Fr=fafee & @ 3 o dgaE i Wt 9W @ @a F wy onar 27
(1) SHITEET (2) gorsgT
(3) Fo FeAt (4) gl
104.The early biight of potato is caused by :
(1] Fusarium (2} Ustilago
(3] Alternaria (4) Albugo

36
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AR A A s A | FwH B

(1} goiftas | (2y vrediarn
(3) FeTIRar (4) TR
' 105.Methane is a biogenic gas produced by a member of :

(1) Eubacteria {(2) Archaea
(3) Eukarya (4} Protista
fré o Sfaafa T Ree o 95| e e & 37
(V) FFEFRRT Q) IRBFEr
(3) IFFRTT 4} ey

IM.Whichl one of the photosynthetic pigments is water-soluble?
(1} Carotenoids (2) Xanthophylls
{3) Chlorophylls - {4) Phycocyanin
ﬁmﬂﬁﬁ#—mmmmmqﬁﬁgﬂmﬁam??
(1) F2=ars 2) A=Diea
(3) FaORET (4) wEHEEtE

107.Lignin is the most important constituent in the cell wall of :
(1) Parenchyma (2) Cambium
(3) Xylem (4} Phlecem
Rrfas ot gow e o @ et aar 2 7
(1) Qe (2) Famw
(3) g (4} wEH

108. Nitrification is the process of the bacterial conversion of :

AgiRees W] AT T A O R #
(1) NO, to NH, (2) N, toNH,
{3 WH,toN, 4) !\Hiuﬂo

37 : | PT.0.
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109.The seed in the angiosperms develops formi a the :
(1) Ovule (2) Carpel (3) Embryosac (4) Anther

aforitert # o fow o & Rofm B ¥
(1) oirgm (2) S (3) ) % (4) R

110. The Botanical Survey of India is located at :

(1} Lucknow {2) Howrah
(3] Cuttack. (4) Bhawnagar
ﬁnamr'&i?rﬁasﬂa‘-ﬁmwwﬁﬂ%?'

(1) <ETH (2) BIEETr (3) HIH (4) HETR

111. The most important functmn of microtubules in the cukaryoh-: cells

is to:
(1) form mitotic spindles (2) excrete cellular wa;stes
(3) form ribosomes ' (4} help in respiration

Wmmﬁwmmm%
(1} wEEes wiea =94 #

(2) qﬁﬁm%emqﬁiﬁwaﬁﬁrmﬁ
FTEAIS e 9X (e & ey
(4) IO mET o9 § SR

112. The protonema stage of the moss plant is a :
{1} Haploid (¥) Diploid {3} Triploid (4} Palyploid
nrE dret @ o srevTes e e

(1) ST P] lﬁﬂﬁ’lﬁ (3) FErIfE (4) 'a@ﬁm

38
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113. Which one of the following chemical ions holds together the; two
subunits of 705 nbosomes?

(1} Calcium (2) Sodium (3} Magnesium (4} I[ron

ﬁwﬁﬂrﬁﬂ—mqmmmsm%ﬁwﬁzﬂﬁww
a9 s 2~

(1) Hwan [_2j afsas  (3) ﬁﬂﬁfﬁuﬂ a4y SR

114. Which of the following is a nron-proteinaceous enzyme?

(1) Lysozyme " . {2} Ribozyme \
(3) Lipase ' (4] Taq polymerase
Prer # @ @ o5 B A o ¥ 7
(1) e (2) TR
(3) wEY (4} ¥ RS

118, 'Opium’ is abtained from which of the following parts of t.hc‘ plant ?
{1) Roots {2} Seeds
{3) Leaf-buds ' (4}, -Unripe capsules
it # g am A6FT ﬁ R s war & ?
(1) 91 4 ; (2) #= A
[ajqﬁ’r%ﬁhﬁ | [4}%%@%

116. Which one of thn following enzymes heips in the ﬁxaubn of UG by
green plants? :
{1} Urease (2) Rubisco (3) Llpase [4". nguse

ﬁq#ﬁvﬁﬂmmﬁqﬁwﬁcu %ﬁuﬂﬁmﬂmﬂ?ﬁ

2 iy e
01 L

m " sfre
39 E’T.ﬂu

F
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117. Which of the following is the main cause for acid rain?

(1) Ozone depletion (2] [Increased level of UV-B

(3) Riss in green-house gas (4) High level of 30, in the
: atmosphere

ﬁwﬁﬁmwma#wngww% ?

(1) e # e

(2 UV-B & W § wgh
(3) #rwema fa d aga
{4} SO, #! AWT HIET AYHEA o

118. Which ohe of the followirlg palrs is ‘correctly matched ?

{1) S!reptomyaes - ' Penitelli

(2) Gelidium - Sdprophytic
[3} Agaricus - Mushroom
(4} Azofobacter - - Photosynthetic

Ri=r gesit & ‘B alt g & 7

() BTy - At

(2) ¥y = Arhiinfees

(3} orftsE = HIEH

(4) oMY -~ wEe-daim

119.The hapleid plants are c-lbtaint:d from :

{1} Pollen .- (2) Zygote
{3) Seed germination {4} leaf cells
amfera e fred ey Sy ¥ 2

(1) D= _ (2) FHT
{3) SR &= (4) a=h 3 Py

40
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120.The erythromycin antibiotic is the kilier of-
{1} Fungi (2}, Viruses - (3} Eubacteria (4) Green algae

sfrfmEins ooarRfes R R e B
() Faw  (2) Pmrep  (3) AR () gjﬁéma'('

121. Which one of the following endosymbionts is associated with the
corolloid root of the Cycas? :

(1) Rhzobmum (2} Anabaena- -
{3} Frankia ! (4} Azospirillum

Pry & § @9 T EHE 3 Sy 95 7 cRfHEERe &
T B ?

(1) USHEIT (2) gTfaTr

(3) #fwgr . (4) QAREETAT
122. Aril is the edible part of which fruit ?

(1) Litchi (2) Mango

(3) Banana (4} Apple

ﬁﬁﬂmmqﬁaﬂm'wm%?
(1) = (2) SN (3) & @) ®F

123, Plastocyanin is the metalloprotein that contains :

Wmm,m%mﬁmmz?

{1) MO (2} 2n {(3) Fe (4) Cu
124. Endosperms of angiosperms are : i

{1} Diploids (2) Haploids

{8). Tétroploids (4) . Trighoids

41 ».1.0,
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aferred a wUrRy ek ¥ -

(1) fapPre (2) ST
{3) =t (4) P
125.The credit of 'Green Revolution' in India goes ta :
(i) B.P.Pal (2) M. S. Swaminathan
{3) R. P. Roy (4) P. K. Gupta
g # ‘sfte wifa’ & R Bha | sar & ¢
(1} ®to t&o g (2) THo UHe WHMMA
3} aMzo Ho T (4) Uio Ho =

42
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{Zoology)

126. Five kingdom approach of classification was suggested by :-
{1} R. H. Whittaker (2) Carolus Linnaeous
(3) Casper Bauhin (4} Thomas Johnson

FaffepeoT @ dfer o TRy Y AT T e
(1) Y. U9, Redsy & g (2) oW f@fFEs & @

(3) P wefes & (4) OIFE STHET B A
127.Zoological name of domestic dog is :
(1) Felis indicus (2) Equus caballus
(3) Canis familians (4] Canis vulpes
W Y H Ag denfes A &
(1) 2T sfssq (2) §FFG IITT
(3) S SEfrARE (4) #fre 9T
128. Liver fluke belongs to phylum :
(1) Aschelminthes (2) Platyhelminthes
(3) Annelida {4} Ctenophora
qopd WY A wEt ¥
(1) sEhRfd= (2) SR
(3) T (4} HH
129.Which of the following is not characteristic feature of phylum
Chordata?
(1) -Notbchord (2) Dorsal hollow nerve cord
131, :vepti'al nerve cord (4) Paired pha;_-yngeal gill slits

f.
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e & O @99 w8 99 5 sy i 2 7
(1) N (2) g=fg @hger w9
(3) gt g wfrepr o (4) gia mE=ht e =we

130.Which of the following is egg laying mamma}?
(1} Flying fox (2) Kangaroo (3] Blue whale (4} Platypus

Frefafiag § @ 99 oo 29 g w=ard & 7
(1) AR HEHE (2] FNE (3) it 2= (4] <digd

131.The epithelial cells found in our lung are classified as :
(1) Simple epithelium : (2) Compound epithelium
(3) Sguamous epithelium (4) Glandular epithelium

W%ﬁﬁqﬁaﬁmﬁqﬁﬁf@uﬁﬁﬁmﬂﬁwﬁ%ﬁmm-
Fiftpa @ ol & ¢

(1} |mER adiffeEm (2) dgT, Yifaferay

{3} srht wdifafees (4) Tiferer adiferfermy
132. Excretory organs of earthworms are called :

(1] Metanephridia (2) Solcno{:ytcs

{3] Malpighian tubules (4) Green glands

FYd A Feael! o @ FEq ¥

(1) TEFmTEar (2} HeAraEey

3) Bl wferepd (4) A= TfemT

133.Typhlosole is found in the alimentary canal of :
(1) Cockroach (2) Pigeon (3] Earthworms (4] Fish
THAEIS, STEIA § g oeh R
(1) Freraeer (2) *gET (3) o (4) A=A
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134.Which one of the muscles proteins shows enzymatic activity?

(1} Actin {2) Myosin
(3) Tropomyosin (4) Troponins
aﬁqzﬁwﬂaﬁunﬁﬂﬁﬁvaaaﬂﬁmmaﬁrmﬁhm?ﬁ%?
(1) ofe {2) ATafE
(3) fr':'l’mni‘rﬁm (4) o=
138.Which of the followmg animal cell organelles contains genenc
machinery?
(i) Lysosomes (2) Golgi Complex
(3} Ribosomes (4) Mitochondria

WWMﬁaﬁmmmm'm

(1) SEEEry (2) TIT P
(3) IESrEE (4) AIECERTYSAr

136.Removal of the terminal phosphate group from ATP provides energy
by cleaving :

(1) Glycosidic bend

(2) Phosphodiester bond

(3) Phosphoric acid anhydride bond
- (4) Phosphoric acid ester bond

ATP % BIY IT $IEHT THE & RO § St faaesa & sra
ot ¥

(1) "arERfatEs =g

(2) WlepEsuET §7Y

[mmﬁmmwww

-[ﬂmﬁﬁmmww
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137.The tissue that maintains the normal blood glucose level during

Jasting?

(1} Skeletal muscles (2) Liver

(3) Heart (4) Pancreas

qE Ha% TN @S BT FH SUArH B AH FHAY g9 @ E o
(1) ehreT ST (2) T

(3 &3 (4) ITIH
138, Which of the brain lobes is associated with executive functions?

{1} Occipital lobe (2) Parietal lobe
{3) Temporal lobe (4) Frontal lobe

1iﬁ£ﬁﬁ£ﬁﬁﬂ1ﬁ“ﬁﬁ'ﬁ‘—ﬁﬂﬁ"ﬁtﬁfﬁﬁﬁ‘@ﬁﬂﬂ%?
(1) SreEdfE fivs (sgwaa fvs)

2) Tuesw Ros -

«3) TS Ros

[4) F¥T vz

139.Na'-K* ATPase pump is.:.
(1) an anti port ion channel (2) a symport ion channel

{3) a ligand-gated ion channel (4) a leak channel

Na' - K' AT Pase 797 & :
(1) SIE= @1 gfaoedt oo |t (2) @8 999 ey Ant
(3) Tk MATS-E oA i (4) frEw gt
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140.Which part of spermatozoa réleases enzymes needed for fertilization?
(1) Middle piece(2) Tail (3) Acrosome {4) Head

ahEEen & fra arr @ P @ R smavas freas g ol
27

(1) Hemg «mT (2) Io (3) l;rﬂﬁ'fﬁh (4) sfref

141, Glucese and fructose in sucrose are linked with :
(1) Bl —2) glycosidic bond {2] B —>4) glycesidic bond
(3} a(l > 4) glycosidic bond (4] a(t—>2) glycosidic bond

gt § wrner ol et wg F o w B
(1) o2 ERHEE g (2) B 4)WERERS o
(3) a(l->4)TEPRRE a7 (4) a(_2)TERERS o

142.An mRNA with a sequence 5'- UAA GAC AGG CGA UGC CUA-3' is
reverse’ transcribed into ¢cDNA. Which of the following has correct
sequence of the cDNA?

wh mRNA @ %7 5'-UAA GAC AGG CGA UGC CUA-3' TR
qfefafr cDNA # 2t ot &)1 Fr=faferr # @ #9197 @1 cDNA & Wt
987

(1) 3'-ATT CTG TCC GCT ACG GAT-5

(2) 5’-TAG GCA TCG CCT GTC TTA-3’

(3) 3"-AUU CUG UCC GCU ACG GAT-5"

(4) 5'-UAG GCA UCG CCU GUC UUA-3
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143.The theory that the first formn of e could have originated from pre-
existing non living organic molecules was proposed by @
(1) Oparin and Haldane (2) Watson and Crick
(3] Stanley Miller (4) Louis Pasteur

aﬁaﬂ%mmaﬁmﬁfw‘ﬁﬁﬁammﬁﬂgﬁ,w
e @ afodrsT R o

(1) e ofir ¥ (2y FgET e ks
(3) ¥= A A (4) T TR

144, Which one of the following is not an example of convergent evolution?
{1) Ewes of octopus and mammals '
{2) Flippers of Penguins and Dolphina !
{(3) Limbs of man and fins of whales
(4) Wings of butter fly and birds

Prafafae 3 A A= aifverd R o e W 2 7
(1) Iy ol @rard # ol

{2) ¥ ofT sfews = 99

{3) g & By oY B B dw

{4) R ot RIXT & g

143, EcoRl, a restriction enzyme, functions as |

{1 Endonuclease (2) Exonuclease
(3) Endn. peptidase {4) Estcra'm:
Eco RI, T Afaay fHvas, mrd s & -

(1) T=rgfeRd (2) TeRAgfaRTaST
(3] TS q=eEdwr (4) wELA
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146, Malignant malaria is caused by infection of :

(1} Plasmodium vivax (2) Plasmodium malaria
{3} Plasmodium falciparum (4) Plasmodium gingivalis
oy wRfEn & dwEer # S ¥

(1) ARy a¥dTd (2) ARGy aear

(3) RN EeAH (4) wEgE e

147.3iRNA standa for : |
(1) Small intermediate RNA (2] Small interfering RNA

(3) Small interacting RNA {4) Small intermittent RNA
s RNA &1 arad ¥ '
(1) 1y Rewadi RNA (2) &Y FRIDICT RNA

(3) WY FTUFIT RNA (4) ®Y HIURAE RNA

148, The secretion of sebaceous gland is :
{1} Sweat {2} Tears (3) Ear wax (4) Sebum

aamy WY & e ¥
- 1) e (2) ¥y @ & gz @) N

149. Which one the following peptides ié. removed during maturation of
ingulin?
(1} A chain (2) Bchain (3) € peptide {4} D peptide
m%qﬁmﬂ%ﬂmmﬂﬁﬁﬁ#mm{aﬁﬁ
i 3 | '
e dem @ @ e @) @ W @ A

o

v

3
4'9 '?.’I‘.D.
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180.The interaction between two species where one species is benefited
and the other is neither benefited nor harmed js called :

(1) Mutualism (2) Comimensalism
(3) Parasitism (4] Amensalism

ﬁwﬁﬁf%ﬁaaﬁﬁmwﬁmﬂ%mﬁrm.m%-
m@ﬂamwﬁ_tﬁﬁﬁﬁrﬁwﬁ@?ﬁﬁ,wm

g
(1) gfarss (2) FRTERE
(3) ufrefiferar (4) TAARST
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Sectian -V
gus -V
Agriculture

181. Bodo mixture is : .
(1) Fungicide (2) Pesticide (3) Weedicide (4) Herbicide

o PR g |
{1} & LR (2) TICTAE
(3) TWRYTEL TS (4) THIERES

182, Element required by plant for oil formation :
{1) Nitrogen (2) Potassium (3} Calcium (4] Sulphur

ﬁaﬁﬁwﬁﬁqmﬁﬁiﬁ?aﬁraﬁmm@?ﬁ%:
(1) FEEeE C (2) wefIEE (3) Ffeamn (4] T

153. Percentage of oil in Castor :

oSt § = o gfdea 8 B o
(1) 52% 2] 44% (3) 62% (4) 65%

154. Percentage of nitrogen in calcium ammaonium nitrate is

FRorry TR AEEe & AgEeH W AR A 2
(1} 18% (2) 25% (3) 30% (4) 35%

'155. H:ghest percentage of nitrogens in stool of animal :

(1) Cow (2) Elephant (3) Sheep i4) Horse
miﬁnﬂar@mﬂaﬁaaﬁmqﬁrqém%
) A (2) @t (3) is e 141 BIE

51 : t-i‘-ﬂ '
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156. Colour of Laterite soil is -

{l1) Red {2} Yellow (3) Green (4) Black
dTEe geralt @ 7 & B
(1} et (2) e (3) &O (4) SBIAT

157.Which of the following are features of Indian agriculture?
(I} Disguised unemployment (II) High productivity

() Majority of large farmers (IV} Gamble in the hands of
Monsoon

(1)1 and II (2) ITand 11l

(3} Il and IV (4)land IV

st & @ 3 i iy &7 oot & 7

M B IR () 3= I«

) T2 =t e (IV) HIFgA &Y a7

(yi1afrn (2} 11 3N 1L

(3) 1 a1 (4) 1 afTIv

158.The impact of Green Revolution was felt most in the case of :
(1) . Wheat (2) Rice
{3) Pulses (4} Oil seeds

Eﬁﬁﬂﬂﬁ‘ﬂﬂﬂﬁﬁﬁﬂﬂﬁﬁﬁf‘?ﬂﬁwmaﬁﬁﬂim
a7 -

(1) g (2) =mES (3) =Tt (4) deeT
159.in India maximum Sugarcane is grown in :

{1} Madhya Pradesh (2) Tamil nadu

(3} Uttar Pradesh (4) . Maharashtra
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wray ® waifass = Y R oar B
(1) #Awm q391  (2) dFeg  (3) SWR W=

160.Indian Vegetable Research Institute is situated at :

{1} Bareilly (2) Kanpur (3) Karnal

AT ArF Al HTEIE FE Raw ?

14U/ 102/ 264ii)

(4 WIS

(4) Varanasi

(1) ==h (2) FAYT  (3) BN (4) T
161. Percentage of rice in paddy is :

art & e B AR wEn A @

{1] 5.0 (2) 7.0 (3) 8.0 (4} 9.0
162.Fung are active in soil at pH?

Fa% f fo ogo W i & Frmde w87

(1] 5.0 (2) 7.0 (3) 8.0 (4} 9.0
163. Optimum temperature for germination of wheat is :

M & olgla 8 @ SugEy ofiea mumH 8 ¢ |

(1) 14-16% {2) 24-26°c (3} 30-32% (4) 34-36%
164.'Kisan Khad' is Know as :

{1] Ammonium sulphate | (2) Ammonium Nitratc

(3) Urea (4) Calcium Ammonium Nitrate

e @x’ FEARh B - ;

(1) e ge@e . (2) orHIfTgs AEge

@ R ' - (4].-mm TRPT

53 P.T.Q.
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168.Indian Pulses Research Institute i_s situated at ;

(1) ‘New Delhi (2) Kanpur (3} Bareilly (4} Karnal
" Teee SgEu dw fad ®
(1) =¢ Rt () @®mge  (3) FEN (4) BHTAR
166.'Jhulsa’ disease is due to deficiency of :
(1) Zim:l (2) Iron {3y Copper (4] Suiphur
gar Tl ae B o & A R
(1) Piw (2) e (3) aisr (4) HTHT

167.Generally U.P. soils have Oorganic matter perceﬁtage :

T SReT B FEA A arftrpar wrt garet @ e qET O

T % :
Y1) 0.1 t00.3% (2) 0.3 to 0.5%
(3) 0.5t00.7% 4 0.7 to 0.0%

168.Temperature of cold storage'fur storage of potato should be :

HAG F Ao & 2 FHes w0 @ A9EHE B =ifee
(1) 10.0to 7.5% . (2) 7.0to 5.5%
(3] 5.0t0 3.5% . _ (4} 1.0to2.5%

169, Micronutrient essential for paddy cultivation -
(1) Molybdenum (2) Zinc
{3} Copper {4} Boron
uF B Rl g ae omavas ¥ | :
(1) =A™ (2) . Ris (3) =T (4} A=
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170.Which crop is both leguminous and oilseed :
(1) Sunflower (2) Kusum (3) Soyabeen (4) Mustard
=1 7 &9 waw e iR R &5 &
(1) Gomel  (2) HyA (3) T (4} |TE

{

171.1n India the ratio of the population of men and animals :

WY # wsdt war ayelt @ SRt W oTura - R
(1) 2:1 2 1:2 (3) 13 () 14

172, Storage of semen in refrigerator is done at temperature :

Wz A oo e o i o wowror frar T & ;-
(1} S°C {2) 10°C (3) 15°C (4) 20°C

173.Lactation petiod of Murrah bufialo js : |
(1) 260days (2] 300days (3) 330days  (4) 360 days
it w1 ol 3w wE Ak @
(1) 260 BT (2) 300fs (3} 330R= (4) 360 &=

174.indian hen on an average gave eggs ©

sy it v af & o s AR ¥
(1) 20 (2) 40 (3) 60 (4) 80

178.The average percentage of fat in paneer is :
R # @ i freas uiRwa W= ud SRl R

{1} 15 2) 20 (3) 28 (4) 35
176. Discase caused due to deficiency of Vitamin B is :
(1) Scurvy (2) “Night blindness

EoEes &

N . LT.O.
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Rrefm @ &t =1 § dT @ 8

(1) wpdt (2) R
(3 4 &4 (4) @z
177.Seed rate per hectare for cauliflower is :
(1} 200 gm (2) S00gm (3) 80Cgm (4) 1000 gm
T mh & A A 5T ofr Baeaw - |
(1) 2009M  (2) 500WH (3) 800 AH (4) 1000 I

178. Pungency of onion is due to :
{1} Allyle Propyl disuiphide (2) Allyl propyl sulphide
(3) Carotene f (4) Alicine
oot 3 e dar B c
(1) CEnger AUET gE GEEES  (2) UETE SRS SeEEs

(3) I (4) <R

179.Consolidation of holdings as a land reforms measure failed to take
off jn : ' .
(1) Punjab (2) Haryana (3) TamilNadu (4) U.P,

I gUR B TF I F B9 7 gna Pre # @ e oo 3§ goeaT
F IzM Wb w7 T ?

(1) g (20 sfarm  (3) oty (4) I Wy

180.Vitamin present in green chilli is :
(1) Vitamin A (2) VitaminB (3) VitaminC (4) Vitamin D
= e F ey qwr sner & -
() Fada o (2) fefs @ @) Refag @ (4) feremfiny &
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181. Mango is fruit :

{l) Sorosis {2) Drupe {3}
T w5 X
(1) EfEg 2) F9 (3)

183.Carbon percentggg in raw iron is :
e, T # ke w afyere wer ko

{1} 1.5% (2) 3.5% (3)
183. Unit-of work is :
{1} Kilogram - .1
(3) Pound (4)
T o o &
(1) Pt (3
(3) drw (4)

184.0ne horscpower is equivalent :
(1) 674watt (2) 714 watt (3)

s R (S1ea afe) wqET B ¥

(1] 6747  (2) 7i4ae  (3)

188. Lowest part of atmosphere is :
(1) Troposphere - @

(3} Stratﬂsphr.r; 4).

| SEpYIEG W O Praem AT R

S "1 1,
'. GV R 4 T
AR v
R L i ’ +
b 1 LMY B J Pl oy - -
. s R . .
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Berry (4} Nut
F 4) = -
5.5% (4 7.5%
Jule

Meter Kilogram

=

Hrex e

" 746 watt (4) 764 watt

746 mE 4) 764 =T

Mesosphere
Jonosphere
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186. Regional rural banks were established :

g amfrer SRt & wrer w1
(1y 1970 (2) 1975 (3)- 1980 (4} 1985

187.Warld Bank is situated at :

(1) Newyork (2) Jakarta
(3) Washington D.C. (4) Tokivo
ez ¥ Rem % : :
(1) A (2) T
(3} af¥iTeT Hodio (4) gy
188.0ne hectare nursery of paddy transplanting can be done of :
{1) 10 hectare (2) 15 hectare
{3) 20 hectare ' (4) 25 hectare
T TR AN A a1 F &y F U9 Y o wh X
(1) 10 ¥IRTT (2) 158FRYT
(3] 20FRII (4) 25&=RTT
189. Namé the State of India having average highest production of cotton :
(1) Punjab (2} Maharashira
(3} Madhya Pradesh (4) Uttar Pradesh
Fare w1 Sl afty BeRTT Iume wiaay & g o A qwd ofas 37
(1) goms (2) HEIUSE (3) T YR (4) JOT g2

190. Colour of ash of good tobacco is :
{1] Yellow (2) Red (3] Black (4) White

STe Wy A U™ % T R X .
() d&r . (@2 & (3) T 4) TPF
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191. Study of green aquatic thallophytes is Known as?

(1) Parasitology (2) Phycology

{3) Mycology (4} Myology

As-g% FE owefg st Ot & otemae @ A 4 RTS
(1) ue-siifaem (2) e e
(3) TFHad TG (4) wig-Ugtt aremgE

192. Nitrogen is present in Urea as :

(1) Amide (2) Ammonia (3) Nitrate (4) Nitrite
g ¥ gt R w o o ¥ 7 :
(1} uARS (2) orfAr  (3) MELT (4) EEET

193, Dwarf varieties of wheat were introduced in India in which year ?

wreaad # @+ onfy & g @ e ReE d @ gen
(1) 1960 (2) 1963 (3). 1970 (4) 1973

194. Eatable portion of potato is :
{1} Root {2) Stem (3} Branch (4) Flower

ATRE T @I ar | ® ¢
(1} 9% (2) @I (3] s (4) I

198. Colour of Murrah buffalo is :
(1) Dark black (2) Copper type
ij wn i Co {4} - ngh.!; Yeliow

59 : P.T.O.
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<t N\ W 1 A ? -
(1) BT e
(3) =

196, Origin of Jamunapari goat is :
(1} Etawah (2) Aligarh

FEAOT FH F g v ¥
(1) e (2) IS

197.NAFED is an organisation of :
{1) Nagpur orange growers

(2) National level farmers

(3) Marketing agency for inter-state marketing

produces
{4) None of these

NAFED =1 & @ froait der ¥ 7
(1) AMYI & daa IJedraadt

(2) U @ P gt &t

(3) B SRl F erieig Ry @ o= @

(4) IuiEe § 8§ fd T8t

198. Average temperature of hen is :

T o ¥ arage #em R
(1) 101°F (2) 103°F

60

(2)
(4)

(3

(3)

(3)

qE 4
=6 far

Agra

105°F

(4) Etah

(4) 2

of agricultural

{4) 107°F

30,000
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© 199.Crop insurance is the monopoly of :
(1) National Insurance Company
(2) General Insurance Corporation
(3) Life Insurance Corporation

(3) NABARD

wae smy i qszﬁam .
(1) ST g=a=g HT (2) OHCA TR HIIET
(3) TTEE THURE HURET (4) STERE (NABARD)

200.5eed rate per hectare of chilli is :

Pl 9 ofy RedaR dre BT R
{11 0.5kg (2) 1.5kg 3] 3.0kg (4) 5.0 kg

L |
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ROUGH WORK
T *d
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